= &
&y FBEHE

Shang Hai Juneng

Page(024~037)

RV %7l
l RV Series

5 F I 3 L

WORM-GEAR REDUCER

u www.sh-juneng.com



L& 1 b ik i W I 2
He ax -

MR Design

RVERIIIRH B EHAE AT AR
RV series reducer are available in following design

NMRV..
HHEPMNEZ, SORRH

IEC standard motor flange
hollow shaft output

NRV...

AN, SO
Solid shalt input hollow shaft output

RV SERIES

NMRV...F1

HERAEIAEZ, ZOMEH, WRHHEE
IEC standard motor flange hollow shaft output,
with F1 output flange

NMRV...F2
HRPBAES, SOMRY, BruEE

IEC standard motor flange hollow shaft output,
with F2 output flange

NMRV...TA
WML, DOREL, THRER

IEC standard motor flange hollow shaft output,
with TA torque arm

NMRV...VS

HEHMNEE, SOMEH, WERETH
IEC standard motor flange hollow shaft output,
with VS worm extension shaft

NMRV...AB
RIS, WY

IEC standard motor flange
addtional double shaft output

NMRV...AS
HHRAMINEZE, SaH

IEC standard motor flange
addtional single shaft output

<025>




WWW.SH-_IUNENG.COM

24712 Designation

BEHLR SSeries code:HRV/NMRV

#E SReducer model

Mm% 2Additional flange: F1/F2

Hmig itional output shaft: AS/AB
Lt i shaft: VS
[Gpitagy itional torque arm:TA

fEBET ission ration

EUPS:):] ic motor type and power
IJ__l ‘J__l R ing position

#7075 H Sign example

A NRV050-VS-50 B8 A NRV050-VS-50 B8

HBS050, BMA, HWRATLME, KIS0, R EBS reducer model 050, with input shaft and worm ext-ensional shatt,
ratio 50, mounting position B8

B NMRV075-F1-20-Y1.5 B3 B NMRV075-F1-20-Y1.5 B3
HEEB075, BHMA, HEI5KW, HFHHZEE, reducer model 075, motor power 1.5KW, with Fl output flange,
320, R¥EAIEB3 transmission ratio 20, mounting position B8

C NMRV110-AS-25-Y2.2B6 C NMRV110-AS-25-Y2.2B6
MBS110, BHHA, HE22KW, HLEHH, reducer model 110, motor power 2.2KW, with addi tional single
feEhtb2s, LM EBG, output shaft, transmission ratio 25,mounting position B6

5 A 3% 4E Permitted output torque (N.m)

SR #HLE S model

ratio 030 040 050 063 075 090 110 130
7.5 18 40 ) 128 185 290 480 750
10 18 40 72 130 195 310 520 820
15 18 40 74 140 200 360 570 920
20 18 39 73 135 210 355 560 910
25 21 38 70 130 200 340 590 930
30 20 45 84 160 230 410 630 1040
40 18 41 76 145 220 360 610 1050
50 17 39 73 135 210 340 600 980
60 16 36 68 130 200 320 560 900
80 13 33 65 122 190 285 490 840
100 29 65 118 180 270 460 740

<026>




RV SERIES

7\
LY 1B RN R A

#${58E Mounting position

B3

EAR A E Wire box position

2707

Normal

#EE 8 selection guide
AN R E TEEAR:
KAxMa<[M]

LGRS RS

Ma--$i %46

[M]-—F F it e S8

output torque is performed using the following for mula:
KA xMa<[M]

KA--service factor
Ma--output torque
[M]--permmited torque

<027>




WWW.SH-_IUNENG.COM

H ALY Technical data
R iR
B Boncr | MR o | mms | me | ma | MR UURE MERE oy | pme | me | ma
power | speed eed | Ratio Model | pole (Weight| | power | speed d | Ratio Model | pole |Weight
Kw rpm .m KW rpm .m
186 6 75 | NMRV030 | 4 | 42 35 32 NMRV040 | 4 | 83
0.66 [ 140 4 10 030 0.8 35 32 050 95
94 7 15 030 28 38 040
70 6 20 030 28 38 050
56 7 25 030 24 34 050
47 8 30 030 18 53 050
35 5.7 40 030 14 55 i 050
28 1.3 50 030
28 12.7 50 040 53 186 11 7 NMRV040 93
0.25 186 11 7 050 10.5
2.5 60 | NMRV030 14 14 1 040
14.2 60 040 14¢ 14 1 050
12.5 80 030 20 1 040
17 80 040 21 1 050
192 | 100 040 70 [ 2 20 040
26 20 050
186 39 75 | NMRV030 42 31 25 040
0.09 [ 140 5 70 030 32 25 050
94 71 15 030 4 36 30 040
70 20 030 4 36 30 050
56 25~ 030 35 44 40 040
47 30 030 35 45 40 050
35 40 030
28 53 50 NMRV050
28 16.9 50 | NMRV030 60 60 050
28 19 50 040 65 80 050
24 1%6.9 60 030 77 80 063
24 21.4 60 040 53 55 100 050
8 255 80 040 85 100 063
4 28-0 | 100 040
186 6 % NMRV040 93
186 7i NMRV030 6.2 0.37 [ 186 16 7 050 10.5
0.12 [ 186 7 040 7.3 14( 21 1 040
141 1 030 144 21 1 050
14 1 040 9. 30 1 040
9: 1 030 9 31 1 050
9 1 040 7 39 20 040
7 20 030 7 39 20 050
7 20 040
56 25 030 56 a7 25 NMRV050
56 25 040 47 54 30 050
47 30 030 35 66 050
47 30 040 35 70 063 132
35 40 030 28 73 050
35 40 040 28 83 063
24 95 6 063
35 21.9 40| NMRVO050 85 18 114 80 063
28 25.4 50 040 14 118 100 063
28 25.8 50 050
285 60 040 186 | 245 | 7. NMRV040 12.3
29 60 050 0.55 186 25 7 050 135
34.1 80 040 14 32 040
34.7 80 050 14 32 050
401 100 050 9 46 050
9 46 063 6.2
186 ) 7 NMRV030 72 7 59 2 050
0.18 [ 186 8 7 040 8.3 7 60 20 063
140 10 1 030
140 10 1 040 56 7 25 NMRV050
94 14 1 030 56 72 25 063
94 15 1 040 47 80 30 063
35 104 40 063
70 8 20 030 35 108 40 075
70 19 20 040 28 123 50 063 10
56 20 25 030 28 129 50 075
56 23 25 040 24 146 60 075
8 180 80 075
a7 26 30 | NMRV040 14 180 | 100 075

<028>



7N
ﬁvf\_‘_’,\}/g/ LiBEaRRNWAEIRA D

H ALY Technical data
iR
.InAp‘m. Hoe oy | EE .Iﬁ;;‘ﬁl. llv‘ul .ol:n’p‘m! feanie Hms &
power Model | pole (Weight| | power | speed d | Ratio Model | pole |Weight]
KW KW | m .m
186 34 7 NMRV050 | 4 | 145 35 462 NMRViT0 | 4 | 73
0.75 [ 186 33 7. 063 172 22 [ 28 550 110
141 44 1 050 28 567 130 53
14 44 1 063 24 660 130
5 63 il 050 18 803 130
9 63 1 063
7 82 20 063 186 138 75 NMAV. 77
56 99 25 063 3 140 182 10
47 109 30 063 94 263 15
47 16 30 075 20 70 350 20
35 43 40 063 56 431 25
35 47 40 075 a7 484 30
28 76 50 075 35 631 40
28 84 50 090 24
35 642 40| NMRV130 97
24 200 60 | NMRVO75 28 773 50 130
24 212 60 090 24 500 60 130
18 257 80 090
14 270 100 090 5.5 |18 253 iz NMRV110 98
- 186 256 7 130 118
186 49 7 NMAV063 232 14 334 1 110
14 186 49 . 075 26 141 334 1 130
14 65 1 063 9 484 1 110
14 66 1 075 9 490 1 130
9 93 1 063 7 645 20 130
9 95 1 075 5 788 25 130
7 121 20 063 4 900 30 130
7 122 20 075
56 149 25 075 186 345 7 NMAV 17
47 170 30 075 7.5 [Hee 349 7 137
35 216 40 075 140 455 1
35 225 40 090 30 140 455 1
54 667 1
28 271 50 | NMAV0S0 70 880 20 130
24 311 60 090 56 074 | 25 130
24 324 60 110 67
18 410 80 110
14 160 100 110
186 67 75 | NMRVI 29
15 [Ha0 90 10
94 130 15
70 167 20
56 200 25
56 209 25 090 33
47 230 30 075
47 236 30 090 33
35 306 40 NMRV090
28 369 50 090
28 375 05 110 55
24 442 60 110
18 490 80 110
8 547 80 130 50
4 652 100 130
22 |18 701 iz NMRV090 36
- 186 101 7 110 73
14 133 1 090
14 133 1 110
5 193 1 090
9 192 1 110
7 251 20 090
7 256 20 110
56 307 25 090
56 316 25 110
47 346 30 090
47 355 30 110

<029>



WWW.SH-_IUNENG.COM

%R+ Mounting dimensions

NMRV..

AmesTRonpage257 NN

nms RERT mounting dimel

model | 5 c |[bHn| E F G H 1 I M | Nmh8) | o P
030 | 54 80 14 97 32 55 40 30 56 65 55 6.5 75
040 | 70 | 101 18 | 1215 | 43 70 50 40 71 75 60 6.5 87
050 | 80 |1215| 25 | 145 | 49 80 60 50 85 85 70 8.5 | 100
063 100 147.5 25 174 67 95 72 63 103 95 80 8.5 110
075 120 174 28 205 72 112.5 86 75 113 115 95 1 140
090 140 208 35 238 72 130 103 920 130 130 110 13 160
110 170 2525 42 294 160 127.5 110 142 165 130 14 200
130 200 2925 45 335 180 147.5 130 155 215 180 16 250

#% R mounting dimensions
G1 N1 KE @ Q s T v K b t
030 63 29 M6x 11(n4) 0° 44 5.5 20 27 44 5 16.3
040 78 36.5 M6 x 8(n4) 45° 55 6.5 23 35 60 6 20.8
050 92 43.5 M8 x 10(n8) 45° 64 ¥ g 30 40 70 8 28.3
063 112 53 M8 x 14(n8) 45° 80 8 40 50 85 8 28.3
075 120 57 M8 x 14(n8) 45° 93 10 50 60 90 8 31.3
090 140 67 M10x 18(n8) 45° 102 11 50 70 100 10 38.3
110 155 74 M10x 18(n8) 45° 125 15 60 85 115 12 45.3
130 170 81 M12x20(n8) 45° 140 15 80 100 120 14 48.8

<030>



7\
LY 1B RN R A

%R+ Mounting dimensions

NRV..

nms &R T mounting dimensions
imodat A c |bHN| E F H 1 L M [ Nmh8) | o P Q s
03 | 54 | 80 | 14 | 97 | a2 | 40 | 30 | 56 | 65 | 55 | 65 | 75 | 44 | 55

040 70 101 18 1215 43 50 40 kal 75 60 6.5 87 55 6.5

050 80 121.5 25 145 49 60 50 85 85 70 8.5 100 64 g
063 100 | 147.5 25 174 67 72 63 103 95 80 8.5 110 80 8
075 120 174 28 205 72 86 s 113 115 95 1 140 93 10

090 140 208 35 238 72 103 90 130 130 110 13 160 102 1

110 170 2525 42 294 127,5 110 142 165 130 14 200 125 15
130 200 2925 45 335 147.5 130 155 215 180 16 250 140 15

nms %% R~ mounting dimensions

modell Gy | G2 | N1 | f KE « | b [t | B |die)| 11 [b1| T |V |K
030 63 51 29 - M6x11(n4) 45° 5 16.3 20 9 10.2 20 27 44
040 78 60 36.5 - M6 x 8(n4) 45° 6 20.8 23 1 12,5 23 35 60
050 92 74 43.5 M6 M8 x10(n8) 0° 8 28.3 30 14 16 30 40 70
063 112 920 53 M6 M8 x 14(n8) 45° 8 28.3 40 19 216 40 50 85

075 120 105 57 M8 M8 x 14(n8) 45° 8 31.3 50 24 27 60 920

090 140 125 67 M8 | M10x18(n8) | 45° 10 | 383 50 24 27 50 10 100

110 155 142 74 M10 | M10x18(n8) | 45° 12 | 453 60 28 31 60 85 115

o lo|lo|o|o|a|s|we
@
3

130 170 162 81 M10 | M12x20(n8) | 45° 14 | 48.8 80 30 33 80 100 | 120

<031>




ﬁ} WWW.SH-_IUNENG.COM

%% R Mounting dimensions
Bit Mg i 7% 2 %48 R <t Additional output flange dimensions

HRV030-090 HRV110-130

nws RER mounting dimensions
model KA KB KC KM KN(H8) KO KP KQ
030 54.5 6 4 68 50 6.5(4/90° ) 80 70
040 67 7 4 87 60 9(4/90° ) 110 95
050 90 9 5 90 70 11(4/90° ) 125 110
063 82 10 6 150 115 11(4/90° ) 180 142
075 111 13 6 165 130 14(4/90° ) 200 170
090 111 13 6 175 152 14(4/90° ) 210 200
110 139 15 6 220 170 14(8/90° ) 270 250
130 1515 15 6 255 180 16(8/90° ) 320 290

it 28 ) B 90 [ 4 i 3 & %€ R <T additional single and double output shaft dimensions
NMRV...-AB

nms ¥R+ mounting dimensions

model d(h6) B B1 L L1 f b1 1
030 14 30 32.5 102 128 M6 5 16
040 18 40 43 128 164 M6 6 20.5
050 25 50 53.5 153 199 M10 8 28
063 25 50 53.5 173 219 M10 8 28
075 28 60 63.5 192 247 M10 8 3.1
090 35 80 84 234 308 Mi2 10 38
110 42 80 84.5 249 324 M16 12 45
130 45 80 85 265 340 M16 14 18.5

<032>



7\
LY 1B RN R A

%% Rt Mounting dimensions
B #5468 R~ Additional torque arm dimensions

nms R3f/dimensions

model K1 G KG KH R
NMRV030 85 14 24 8 15
NMRV040 100 14 315 10 18
NMRV050 100 14 38.5 10 18
NMRV063 150 14 49 10 18
NMRV075 200 25 475 20 30
NMRV090 200 25 57.5 20 30
NMRV110 250 30 62 25 35
NMRV130 250 30 69 25 35

HRHFEE B3R T Worm extension shaft dimensions

NMRV...VS
o1
|

#8 Zmodel G2 d(jé) B b1 1 f
NMRV030 45 9 20 3 10.2 -
NMRV040 53 11 23 4 12.5 =
NMRV050 64 14 30 5 16 M6
NMRV063 75 19 40 6 21.5 M6
NMRV075 90 24 50 8 27 v8
NMRV090 108 24 50 8 27 M8
NMRV110 135 28 60 8 31 M10
NMRV130 155 30 80 8 33 M10

<033>




WWW.SH-_IUNENG.COM

v

::’?I "_’;f:fd.l N | m | P [75]10[15 ]2 ]25] 30 [40]5s0][ 60 80100
63B5 95 115 | 140 11 11 11 11 11 11 11 11 s - -

63B14 60 75 90 11 11 1 1 11 11 1 Ch ! - - -

%0 5685 80 [100[120] 9 [ 9 | o [ o[9[ 9[9[ 9[99 ]-
56814 | 50 [ 65 | 80 | 9 | 9 | o | o [ 9 [ 9| 9[9[ 9[9[

71B5 110 | 130 | 160 14 14 14 14 14 14 14 14 - - -

040 71814 | 70 | 85 [ 105 | 14 | 14 | 14 | 14 [ 14 [ 14 |14 [ 14 | - | - [ -
63B5 95 115 | 140 11 11 11 11 11 tl 11 11 1 1 1

80B5 130 | 165 | 200 19 19 19 19 19 19 19 o o = =

80B14 80 100 | 120 19 19 19 19 19 19 19 = = = =

050 71B5 110 | 130 | 160 14 14 14 14 14 14 14 14 14 14 =
71B14 70 85 105 14 14 14 14 14 14 14 14 14 14 e

6385 95 (115|140 - | - | - [ - [ - -[n][n[uw[n][n

90B35 130 | 165 | 200 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | - = - _

065 80B5 | 130 | 165 | 200 | 19 | 19 [ 19 | 19 | 19 [ 19 [ 19 [ 19 [ 19 | - | -
7185 [ 110|180 [160 | - | - | - | - [ = | - |14 |14 | 14 [ 14 | 14

71B14 70 | 85 | 105 | — = = = = - | 14| 14| 14 | 14 | 14

100/112B5 180 | 215 | 250 | 28 28 28 28 = 28 = = = - =

075 90B5 130 | 165 | 200 | 24 24 24 24 24 24 24 24 24 - -
80B5 130 | 165 | 200 - - - - - - 19 19 19 19 19

100/112B5 180 | 215 | 250 | 28 28 28 28 28 28 28 28 - - -

090 90B5 130 | 165 | 200 | 24 24 24 24 24 24 24 24 24 24 -
805 [ 130 [ 165 [200 | - [ - | - [ - [ = [ - [ 19 [ 19 [19 [19 [ 19

13285 | 230 | 265 | 300 | 38 | 38 | a8 [ 38 |38 | - | - | - | - [ - | -

110 100/112B5 | 180 | 215 | 250 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | - | -
90B5 | 130 | 165 | 200 | - | - | - | - |24 | 24 | 24 | 24 | 24 | 24 | 24

132B5 230 | 265 | 300 | 38 38 38 38 38 38 38 38 - - -

130 100/112B5 180 | 215 | 250 - - - - 28 28 28 28 28 28 28
90B5 130 | 165 | 200 - - - - - - 24 24 24 24 24

<034>



7\
LY 1B RN R A

NRVZRFIA &R iE#H RV series combination

B S#7iC Designation
WENNES de:k
fEBLLT ission ration
FHLERE. type and power
R hr BWire box position
#2777 H Sign example
A NMRV030/050-300-Y0.18 A NMRV030/050-300-Y0.18

AAHIESNMR030/050, f£E1EL300, RAYRFUBHL0.18KW ,transmission ratio 300,

ination model
Y seriesmotor power0.18KW

B NMRV050/110-500-YVP0.55 B NMRV050/110-500-YVP0.55
ARHMBSNRMV050/110, f£2t500, RAYRIIEH ination model 110, ission ration 300,
H410.55KW inventermotor power 0.55KW
s1

s3

<035>



WWW.SH-_IUNENG.COM

#ARSY Technical data
R L I e I s L Y ey oy
power | speed ced | Ratio Model | pole \Weight| | powor | speed | spood | Hatio Model | pole |Weight
0.09 | 47 70 | 300 [NMRV030/040| 4 | 9.5 0.9 | 360 [ 1500 |NMRV040/075| 4 |17.3
35 63 | 400 [NRV 9.5 0.09 5 [ 402 | 1800 [NV
2.8 57 500 0.6 | 330 | 2400
2.3 72 600 0.06 | 05 | 301 | 3000
1.9 72 750
1.6 73 900 47 | 402 | 300 |NMRV040/075 29.3
0.06| 1.2 65 | 1200 a7 | 35 | 528 | 400 [NAv
0.9 73| 1500 037 5% [ 550 | 500
0,8 73 | 1800 23 | 605 | 600
0.6 65 | 2400 0.25 |10 | 538 [ 750
0.4 65 | 3200 1.6 | 533 | 900
12 | 629 | 1200
47 | 142 | 300 [NMRV030/040| 13.5 018 05 | ses | 1500
012 5 127 [ 400 vy 0.8 | 492 | 1800
28 | 123 | 500 13.5 042 =06 | 625 | 2400
0.09| 23 | 143 | 600 0.5 | 548 | 3000
1.9 148 | 750 i
1.6 | 141 [ 900 13.5 47 | 871 | 300 |NMRV0S0/110 755
1.2 | 118 | 1200 075 =55 [ 1013 | 400 |nAv
09 [ 139 [ 1500 28 | 984 | 500
0.06 | 08 155 | 1800 0.55| 23 | 1062 | 600
0.6 | 124 | 2400 1.9 | 1128 [ 750
0.5 120 | 300 0.37 | 1.6 | 1079 | 900
1.2 | 943 [ 1200
4.7 210 | 300 |NMRV030/063| 15.4 0.25| 09 | 1064 | 1500
35 | 222 | 400 |NRV 15,4 0.8 | 1075 | 1800
012 | 28 205 | 500 0.18 | 0.6 | 1001 | 2400
23 [ 208 | 600 0.5 | 884 | 3000
1.9 216 | 750 042
1.6 | 200 | 900 15.4 1.50 | 4.7 | 1789 | 300 |NMRV063/130 110.2
0.09 1.2 236 | 1200 140 | 35 | 1519 | 400 |NRV
0.9 [ 204 [ 1500 15.4 0.75 | 2.8 | 1466 | 500
0.06 | 08 202 | 1800 2.3 | 1631 | 600
06 | 220 | 2400 1.9 | 1804 [ 750
0.5 | 223 | 3000 1.6 | 1826 | 900
0.55| 1.2 | 1705 | 1200
037 | 47 405 | 300 |NMRV040/075 25.4 0.37 | 09 | 1674 | 1500
35 | 336 | 400 |NRV 25.4 0.8 | 1698 | 1800
025 5 307 | s00 0.25| 06 | 1624 | 2400
s |28 | 362 | 600 0.5 | 1548 | 3000
1.9 [ 891 [ 750
16 | 325 | 900
0.12 1.2 359 | 1200

<036>




7\
LY 1B RN R A

%R+ Mounting dimensions

NMRV.../NMHRV...

T30 AR L T AR 0 b E#§90° 180° 270°
The first stage reducer can be rotated 90° 180° 270° by the central of output shaft

HnEs #$RT mounting dimensions

model | A | B | C |C1|DH7IDIGE] E | F [ G | H |HI| 1 [ 1n| L [ M |Nh8 N1[N2| O
030/040 | 70 | 20 | 100 | 80 18 9 |121.5( 43 | 55 | 50 | 40 | 40 | 30 71 75 60 (36.5| 29 | 6.5
030/050 | 80 | 20 | 120 | 80 | 25 9 144 | 49 | 55 | 60 | 40 | 50 | 30 85 85 | 70 |43.5| 29 | 85
030/063 | 100 | 20 | 144 | 80 | 25 9 174 67 | 55 | 72 | 40 | 63 | 30 | 103 | 95 80 [ 53 | 29 | 8.5
040/075 | 120 | 23 | 172 | 100 | 28 11 [205| 72 | 70 | 86 | 50 | 75 40 | 112 | 115| 95 | 57 [36.5| 11
040/090 | 140 | 23 | 208 | 100 | 35 11 (238 | 74 | 70 | 103 | 50 | 90 | 40 | 130 | 130 (110 | 67 [36.5| 13

050/110 | 170 | 30 [252.5( 120 | 42 | 14 [295| - 80 |127.5( 60 | 110 | 50 | 144 | 165 | 130 | 74 |43.5( 14
063/130 | 200 | 40 [292.5 144 | 45 | 19 [335| - 95 |147.5| 72 | 130 | 63 | 155 | 215|180 | 81 53 | 16
@ RERT mounting dimensions

model | g (RIS [T |V |Z|K KE a|b |bl|f |t |t1|Ka|P|Q]|GI|G2
030/040 |71.5| 57 | 6.5 | 26 | 35 | 120| 60 | M6x8n4 | 45° | 6 - [20.8[10.2[ 3.9 | 87 | 55 | 78 | 51
030/050 | 84 | 57 | 7 | 30 | 40 [130] 70 |mBx10n.4|45° | B - |28.3[10.2[ 5.0 | 100 64 | 02 | 51
030/063 | 102 | 57 8 36 | 50 | 145 8! M8x14n.8| 45° | 8 - |28.3|10.2| 7.8 (110 80 | 112 | 51
040/075 | 119 7t.5] 10 | 40 | 60 [165| 90 [MBx14n8[ 45° | 8 31.3[12.5[12.0[ 140| 93 [ 120] 60
040/090 | 135 [71.5| 11 | 45 | 70 [ 182 100 |M10x18n.g| 45° | 10 - [s8.3[12.5]16.0] 160 | 102] 140 60
050/110 [167.5 84 | 14 | 50 | 85 [225] 115 [M10x18ng| 45° | 12 M6 |45.3[16.0[39.2] 200 | 125 | 155 | 74
063/130 [167.5 102 | 15 | 60 | 100|245 | 120 [M12x21n.8| 45° | 14 M6 [48.8(21.5(55.0] 250 | 140 | 170 90

3

=)

@

S

ola|sls|lo|o|lw
|

<037>




